CS 150 Homework Quiz #5 Solution




Prepared by Wen Hui Guan

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Solution:

Given an input D,

(1) output from D-latch changes as D changes regardless of the clock.

(2) output from clocked D-latch changes as D does only when the clock is high.

(3) output from D M/S FF are the samples taken from the input at the falling edge of the clock.

(4) output from positive edge FF changes relative to D at the rising edge of the clock.

(5) output form negative edge FF are the samples taken from the input at the falling edge of the clock (same as part 3).

Grading:

2 points-----miss at most one

1 points-----miss two or three

0 points-----miss 4 or more
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